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Part A: Vocabulary and Grammar
Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will

see four words or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase
that best completes the sentence. Then mark your answer sheet.

76-

77-

78-

79-

The fire finally ------------- under control, but only after extensive damage ----------- .

1) got / had been caused 2) had gotten / was caused

3) got / has been caused 4) had gotten / had been caused

Iam -----emneene- my friend's children while she takes a week's holiday.

1) looking for 2) looking after 3) taking after 4) taking care

The director of the program advised the students ------------- time -------mnnu-- material that was so
out—of date.

1) to avoid wasting / reading 2) to avoid to waste / to read

3) avoid to waste / reading 4) avoiding wasting / reading

A: "My friend failed the test yesterday."

B: "It's nothing unusual. He ------------- more."

1) must study 2) should study 3) must have studied 4) should have studied

Exercise and weight --------a---- can help lower your blood pressure and help you feel more
energetic.

1) pace 2) task 3) loss 4) choice

After graduating from university, John and I became best friends, and he ------------- me deeply
with his behaviour.

1) involved 2) advised 3) influenced 4) improved

The pilot of the airplane had to make a/an ------------ landing because of the very bad weather.

1) mystery 2) emergency 3) strategy 4) density

Something is really worrying me, but I can't ------=------ exactly what it is.

1) locate 2) devote 3) define 4) handle

Each school's central ------------- should be to teach reading, writing, and arithmetic.

1) mission 2) occasion 3) expression 4) permission

I think the plane is ------------- in a few minutes.

1) turning on 2) making up 3) turning up 4) taking off

I don't like seeing animals in a zoo. I prefer to see them in their natural ------------- areas.

1) relaxed 2) surrounding 3) contrasting 4) individual

I find his habit of opening windows all the time really most annoying, ------------- when the
temperature is minus 10.

1) exactly 2) perfectly 3) constantly 4) particularly

Part B: Cloze Test
Directions: Questions 88-92 are related to the following passage. Read the passage and

decide which choice (1), (2), (3), or (4) best fits each space. Then mark your answer
sheet.

To be in employment means to have a job, to have work. The type of work, the hours and
(88) ------m--m-- , vary across the world from country to country, from organization to organization,
from business to business. Full employment is an economic (89) ------------- meaning all the
(90) -------—----- workforce of a country is occupied in work. This is nowadays (91) ------------- as an
impossible position to reach for various reasons. Being employed usually means working for an
employer, for a period of 8 hours per day, Monday to Friday, but this can vary (92) ------------- from job
to job, country to country.



88-
89-
90-
91-
92-
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1) opinions 2) politics 3) projections 4) conditions
1) term 2) detail 3) degree 4) average

1) flexible 2) available 3) reasonable 4) responsible
1) directed 2) remembered 3) regarded 4) measured
1) greatly 2) briefly 3) certainly 4) suddenly

Part C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passages is followed

by four questions. Answer the questions by choosing the best choice (1), (2), (3), or (4).
Then mark your answer sheet.

94-

95-

PASSAGE 1:

Human beings used speech as a means of communication long before writing was invented. Writing
represents, or symbolizes, "the sounds we make when we speak. Written language is usually more
formal than speech. In a typical conversation, a speaker will stop and start, leave a sentence unfinished,
and say "er" or "um" when thinking what to say next. Written language, by contrast, is much more tidy
and organized. If you were to write down exactly what people were saying in a casual conversation,
you would end up with a very rough and untidy piece of writing. Also, in a conversation, speakers
often predict what someone is about to say next, and interrupt, or talk, briefly, at the same time as
another person.

When you speak, you can add colour to what you say in a number of ways. You can make your voice
louder so that it will carry and have real effect; you can stress certain important words or phrases so
that your listeners pay special attention to them; you can alter your tone, making your voice rise and
fall as you speak; you can alter the pace at which you speak, speeding up or slowing down to make
your speech more interesting. Experienced public speakers become expert at using these techniques. In
everyday speech using these techniques naturally makes for lively and interesting conversation.

According to the passage, writing is a representation of ------------- .

1) an unfinished sentence that we say

2) what someone is trying to say more forcefully

3) what we can say after thinking

4) the sounds we produce when we speak

We can understand from the passage that human being used oral language ------------- .
1) to convey meaning

2) to add color to his voice

3) in typical conversations long before writing

4) as an untidy language before writing was invented

According to paragraph 2, an expert is a person who ------------- .

1) can make his voice louder

2) is efficient at doing something

3) can pay special attention to words and stress

4) makes his voice rise and fall as he speaks

The writer believes if we use speaking techniques in our every day speech, -------=----- .
1) we can make up for the weaknesses of speaking

2) we will have a more interesting conversation

3) we can change the speed at which we interest people in the topic

4) we can make our listener more lively and interesting



97-

98-

100-

PASSAGE 2:

If a person uses two languages in everyday life, he or she is said to be bilingual. Only a few people
whom we would call bilingual can speak, read, or write both languages equally well. We call those who
can do this "balanced bilinguals". But most bilinguals have a preferred language, which they use most
of the time, and then a second language, the level and use of which will vary considerably from one
person to another. Children raised bilingually from a very early age are most likely to have an equal
command of both.

There are bilingual communities in many parts of the world. Members of these
communities use two (or more) languages as a matter of course. South Africa, Belgium, Wales, Ireland,
and Canada are some examples of countries where such communities exist. (This does not mean that
everyone living in these countries is bilingual.) Bilingualism also occurs in other areas of the world
where immigrant groups have settled but have remained not fully absorbed into the society around
them. They keep up many of their own customs and continue to speak their own language at home. The
following examples are taken from a long list: Chinese and Italians in Australia; Turkish migrant
workers in Germany; Asians in Great Britain; and Spanish speakers in the United States. In many
cases, the bilinguals are not themselves immigrants, but people whose parents, or even grandparents,
moved to the country in question and have continued to speak to their children in their own mother
tongue.

According to the passage, a balanced bilingual is a person who ------------- .

1) can use two languages in everyday life

2) has an equal command of two languages at the same time

3) can use a second language in a context where another language is spoken

4) has been raised bilingually and can read and write only his own language in two countries
According to the reading, children who were bilingual from a very early age ------------- .
1) are more likely to be dominant in one language

2) have an equal command of both cultures

3) can write both languages equally correct

4) most probably know both languages equally

Which statement about the passage is NOT true?

1) South Africa, Belgium and Canada are some examples of bilingual countries.

2) Members of bilingual communities use two languages as a matter of course.

3) There are bilingual communities all over the world.

4) Not everyone living in bilingual countries is bilingual.

Migrants speak their native language in order to ------------- .

1) preserve their customs

2) help their children do better at school

3) communicate more easily with their children

4) be absorbed in a foreign country more easily
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Part A: Grammar
Directions: Questions 101-110 are incomplete sentences. Beneath each sentence you will

see four words or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase
that best completes the sentence. Then mark the correct choice on your answer sheet.

101- I knew there wouldn't be a test, so I --------- . I watched TV instead.
1) needn't to study 2) needn't have studied
3) didn't need to study 4) didn't need to have studied
102- We went shopping and bought ---------- basin for our dining table.
1) an antique silver sugar 2) a silver antique sugar
3) a sugar silver antique 4) an antique sugar silver
103- The doctor ---------- his office. Maybe you can catch him if you hurry to the parking lot.
1) leaves 2) is leaving 3) has just left 4) will be leaving
104- Little ---------- how much she would miss her native country.
1) she realized 2) did she realize 3) she did realize 4) she had realized
105- He's trying to finish the work soon. He expects most of it --------- before the weekend.
1) finishes 2) finish 3) to be finished 4) be finished
106- Toronto is the city ---------- .
1) where my sister moved to 2) my sister moved there
3) which my sister moved 4) my sister moved to
107- I didn't know you lived -------- long way from downtown.
1) so 2) too 3) very 4) such a
108- I visited several countries and really enjoyed meeting the local people, -------- were very
friendly.
1) they were 2) most of whom 3) most of them 4) that they were
109- I'm going to sign the agreement immediately --------- you change your mind.
1) whereas 2) in case 3) in spite of 4) meanwhile
110- If only I ---------- at the wedding, but I had to be in New York.
1) were 2) could be 3) would have been  4) had been

Part B: Vocabulary
Directions: Questions 111-125 are incomplete sentences. Beneath each sentence you will

see four words or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase
that best completes the sentence. Then mark the correct choice on your answer sheet.

111- I went to the exam session full of ---------- , but it was more difficult than I had imagined.
1) confidence 2) posture 3) mystery 4) patience

112- It rained all day in London, but here we had only a(n) -------- shower.
1) transient 2) specific 3) enduring 4) shallow

113- Only congress can ---------- the president to declare war.
1) attribute 2) struggle 3) enhance 4) authorize

114- It was very difficult for Dan to hide his ---------- when he was rejected by the law school.
1) disappointment 2) pretension 3) inaction 4) boredom

115- Mary ought to type her reports because her handwriting is ---------- .
1) irrelevant 2) illegible 3) marginal 4) primitive

116- She has always wanted to take up the piano and has recently ---------- in a program that

teaches the basics of music.
1) emerged 2) instructed 3) enrolled 4) concentrated
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Ali, who has come late to every meeting we have held, surprised us today by being --------- .

1) punctual 2) coherent 3) proactive 4) compatible

My Physician thought I had broken my wrist, and an X-ray later --------- his opinion.

1) conformed 2) confirmed 3) resolved 4) sustained

She was able to cope with some of her -------- , but her early childhood was filled with
frustration.

1) variables 2) deviations 3) limitations 4) diversities

In Iran, school closes for Iranian new year at the end of Esfand and -------- on Farvardin 14th.
1) enters 2) arises 3) concurs 4) resumes

At Western weddings, people perform some --------- that prove their unconscious belief in
superstitions.

1) rituals 2) components 3) conventions 4) approaches

The art department is --------- the outstanding posters produced in its classes.

1) repressing 2) appending 3) exhibiting 4) forecasting

The school's main goal is making the students ----------- so that they can read and write.

1) intrinsic 2) literate 3) accurate 4) faithful

A common marketing technique is to hand out free ---------- of new products at international
fairs.

1) issues 2) devices 3) versions 4) samples

Our library's strict regulations ---------- the borrowing of more than four books at a time.

1) censure 2) criticize 3) prohibit 4) disclaim

Part C: Sentence Structure

Directions: Choose the sentence with the best order for each of the following series. Then
mark the correct choice on your answer sheet.

1) If John had booked a table, we wouldn't be standing here in line.
2) If John had booked a table, we wouldn't be standing here at a line.
3) Had John booked a table, we might not have stood here in a line.
4) Had John booked a table, we might not be standing here at line.

1) I wish you wouldn't do rude remarks at me no more.

2) I wish you didn't make rude remarks about me no more.

3) I wish you wouldn't make rude remarks about me anymore.
4) I wish you wouldn't do any rude remarks about me anymore.

1) Laura wants to fly despite of feeling afraid.
2) Laura wants to fly in spite of feeling afraid.
3) Laura wants to fly despite being felt afraid.
4) Laura wants to fly in spite having been afraid.

1) The staff are working on weekends in order for completing the project on time.
2) The staff are working in weekends so to complete the project in time.

3) The staff is working in weekends so they complete the project on time.

4) The staff are working on weekends so as to complete the project in time.

1) I took a piece of bread from freezer because I want to defrost it.
2) 1 took the bread out of the freezer so that it would defrost.

3) I took a bread out of the freezer therefore it defrosted.

4) I took the bread from freezer in order to defrost it.
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Part D: Language Functions
Directions: Read the following conversations between two people and answer the

questions about the conversations by choosing one of the choices (1), (2), (3), or (4). Then
mark the correct choice on your answer sheet.

A: Mary is going to (131) -------- to the party.
B: (132) ----=----- she doesn't have her license yet.
131- 1) give me aride 2) drop me off 3) do me a favor 4) give me a hand
132- 1) Wow! 2) So what? 3) How could she? 4) God only knows.
A: I have to go to class because I have a test, but if I could, I'd go with you to the movies.
B: (133) ------------ . I wish that you could come along.
133- 1) No kidding 2) That's too bad
3) You are most welcome 4) Don't mention it
A: (134) -----=-m=--- ?
B: I still haven't received my score on the test. Maybe I should call to check on it.
A: (135) -mmmmmmmmeea- It takes at least six weeks to receive your score.
134- 1) How come? 2) What's that? 3) How is it going? 4) What's wrong?
135- 1) That's OK. 2) What a pity! 3) Shame on you! 4) Don't worry so much.
A: I can't take it anymore. The job is really (136) --------- me.
B: Hey, sounds like you could use a break.
A: Are you kidding? I'm (137) ----------- in paperwork.
B: When was the last time you took some time off?
A: (138) -=--mmmmeem- , it's been over a year. I was supposed to take off a few weeks in January,
but it just got too busy around here.
B: Then it sounds like a little rest would do you some good.
A: You're right. And anyway, I can always bring my laptop along and (139) --------- my
work.
B: Listen, leave the laptop at home! You need to just (140) --------- for a while.
136- 1) getting to 2) counting on 3) sticking with 4) running into
137- 1) in the red 2) out of the blue 3) up to my ears 4) beyond my head
138- 1) If you ask me 2) On second thought 3) Come to think of it 4) You've got me there
139- 1) make up for 2) catch up on 3) put up with 4) come down with

140- 1) take it easy 2) go for it 3) take it for granted  4) keep an eye on it
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Part E: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark the correct choice on your answer sheet.

Stress is part of everyday life. We (141) ---------- it in good times and bad. (142) ---------- events
such as serious illness, death, or wars all cause stress. (143) -----—------ , positive changes in life can
also be stressful. New relationships, new jobs, or a new baby can make someone (144) ----------
stressed out. Stress only becomes a problem when it is (145) ----------- , when people can't control it.

(146) -----mmmmmm- too much stress isn't healthy, reactions to stress can be helpful. (147) ----------- ,
in prehistoric times, stress helped people (148) ------------ . When our ancestors were in danger,
certain changes in their bodies prepared them either to fight (149) ------------ to flee. Today, this
fight or flight (150) ------------- is still a part of us. We deal with stress in the 21* century
(151) ------=--=--- .

Stress causes powerful hormones (152) ------------ quickly through the body. The hormones cause
an increase (153) ------------ heart rate, blood pressure, blood sugar, and the need for oxygen. These
are the changes that help people (154) ------------ stressful situations successfully. However, when
stress is out of control, (155) ----------- immune system suffers. This is a problem for many people.
1) manage 2) distinguish 3) undertake 4) experience
1) Traumatic 2) Persistent 3) Ambiguous 4) Reluctant
1) for instance 2) However 3) Therefore 4) On the contrary
1) feel 2) feeling 3) to feel 4) that they feel
1) irrelevant 2) forthcoming 3) unavoidable 4) unmanageable
1) Since 2) While 3) Unless 4) Despite
1) In fact 2) In case 3) Furthermore 4) As aresult
1) that they survive 2) to be survived 3) to survive 4) surviving
1) also 2) but 3) and 4) or
1) pattern 2) reaction 3) insight 4) gesture
1) as did our ancestors 2) similar to that of our ancestors
3) in a way the same as our ancestors 4) the same way our ancestors did
1) move 2) moving 3) to move 4) they move
1)in 2) of 3) for 4) with
1) pass on 2) turn into 3) get through 4) make for

1) the bodily 2) the body's 3) bodies' 4) body



156-

157-

158-

159-

160-

¥ daxduo 520A (‘smba.};&‘ ) Gm.d.ial ub)

Part F: Reading Comprehension
Directions: In this part of the test, you will read three passages. Each passage is followed

by a number of questions. Answer the questions by choosing the best choice (1), (2), (3),
or (4). Then mark the correct choice on your answer sheet.

Reading 1:

The oldest known person on record is a French woman, Jeanne Calment. She seemed to disprove
the idea that healthy living was the key to her long life. Despite smoking for 100 years, she lived to
the age of 122. She believed her long life was thanks to her diet.

The average life expectancy for all people in the world today is 63 years. This figure varies
widely from country to country. Japan has the world's highest life expectancy; 85 for women and 78
for men. More than 20,000 of its population have celebrated their 100th birthday. Researchers
believe part of the reason for this lies in the healthy Japanese diet and their good health care system.

People who live in developed countries generally live longer than those who live in poorer parts
of the world. Factors like war, disease, quality of diet, and access to health care all affect life
expectancy. When a country's health care and education improve, life expectancy goes up.

Another important factor is gender. Women, on average, live longer than men. Over 80 percent
of people who live beyond the age of 100 are women. The reasons for this are not fully understood.
Some scientists believe that women are born with genes that help them live longer than men. Others
argue that men often lead more risky lifestyles that put them at greater chance of dying than women.
They have more dangerous jobs. Also, men generally drive more, and also smoke more than
women. Men are even killed more often than women.

Another area that researchers have looked at is marital status. They have not found a clear
difference in life expectancy between married women and single women. However, one British
study found that married men appeared to live longer, on average, than single men. This may be
because married men tend to have a healthier lifestyle than single men. They eat more healthily,
and, on average, take fewer risks.

What can be the best title for this passage?

1) A Healthy Lifestyle 2) The Secret to a Long Life

3) Average Expectation of Life 4) The Oldest Person in the World

The writer's purpose in the first paragraph is ----------- .

1) to emphasize the importance of healthy living

2) to tell people what to do to live beyond the age of 100

3) to clear up a misconception

4) to advise the reader to eat right

According to the passage, all of the following affect life expectancy EXCEPT ---------- .

1) standards of living 2) health problems

3) eating habits 4) health insurance

It is stated in the passage that compared to women, men ----------- .

1) take fewer risks 2) tend to live longer

3) have a less healthy lifestyle 4) are more prone to serious diseases

It can be understood from the passage that ----------- .

1) marriage makes a big difference to life expectancy for men

2) factors that affect life expectancy are environmental factors

3) researchers are certain what the reasons for Japan's high life expectancy are

4) Japan's health care system provided a model that other developed countries followed
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Reading 2:

In the 1860s American business started to change. Before that time most businesses were small;
they made products by hand and sold them to local customers. Beginning in the 1860s, inventors
created new machines that could produce clothing, canned foods, tools, and other items quickly and
cheaply. By making large quantities of items in less time, companies could spend less money on
production. This made it possible to charge lower prices. In addition, a new national railroad
allowed businesses to sell their products to people all across the country. The combination of fast
production, low production costs, inexpensive products, and a whole nation of consumers helped
small businesses grow into big businesses. This time in history was called The Age of Big
Business.

Big Business continued to grow because of three things: more products, more customers, and
more money. The typewriter, the light bulb, and the telephone were important inventions that
became very popular products. Thanks to the 25 million immigrants that came to the United States
between1870 and 1916, there were many new customers to buy these products. Businesses made
huge profits from the sales of their products to large numbers of people. They used these profits to
build more factories, which in turn, produced more items to sell.

The owners of these businesses became very rich. In 1850 there were 20 millionaires in the
United States; by 1900 there were more than 3,000. However, the workers who made the new
products were very poor. They had little money for housing, food, clothing, and medical care. These
workers usually worked at least 60 hours a week for an average pay of about 20 cents an hour. Not
only were their wages low, but their workplaces were very dangerous.

In the early 1900s reformers helped workers organize labor unions to improve working
conditions and wages. Reformers also asked the government to protect both workers and consumers
with safety regulations. They wanted every business to guarantee the safety of its workplace and its
products. The reformers were successful—by the 1960s, there were hundreds of government
regulations that businesses had to follow.

What is the passage mainly about?

1) The Age of Big Business 2) The business reforms of the 1860s

3) The history of American business 4) The owners of big businesses in America
The word ''this' in line 5 refers to ----------- .

1) inexpensive products 2) low production costs

3) large quantities of items 4) an increase in production

Which of the following questions does the passage answer?

1) What led to the development of Big Business?

2) How many millionaires were there in the 1900s?

3) What was the average worker's yearly income during the Age of Big Business?
4) How many hours long was the average workweek before the Age of Big Business?
According to the passage, between 1870 and 1916 ------------ .

1) the typewriter, the light bulb, and the telephone became popular

2) businesses attracted the most customers

3) factories produced the most items

4) immigration increased

According to the passage, the importance of safety ----------- .

1) negatively impacted American business between 1900 and 1960

2) made companies think about not only profits but also people

3) brought workers the right to join labor unions and strike

4) was ignored by the U.S. government until the beginning of Big Business era
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Reading 3:

Recently, psychologists at some leading universities have looked at what "luck" really means.
They found there are three types of situations that people usually associate with luck. The first is
circumstance, such as being born in a wealthy family or inheriting athletic genes. Obviously, this
type of situation is beyond anyone's control—people can't change the circumstances of their birth.
The second is random chance events, such as rolling dice, which are also beyond our control. Your
chances of getting a seven when rolling two dice or of being hit by a falling meteor are based on
statistics. The third type of situation includes events such as getting your dream job or meeting your
ideal spouse. It is in this third area that researchers say we may be able to have more control over
our luck.

A professor from England, Robert Wiseman, believes that people can influence their own luck in
good or bad ways. Wiseman did a series of experiments with people who believed they were
naturally lucky or unlucky. He found a clear connection between the attitude of the participants and
the amount of "luck" they had. He found four important attitudes and actions of "lucky" people.
First, they are open to opportunities and make the most of situations that arise. Second, they trust
their intuitions and often make decisions based on them. Many meditate or do yoga to help keep in
touch with their intuitive senses. Third, they think positively and expect good things to happen.
Having a positive attitude means they smile and laugh more, which attracts others and may create
opportunities. Fourth, lucky people tend to focus on the good in each situation, whereas negative
people tend to focus on the bad side. Finally, lucky people typically don't give up easily.

Professor Wiseman also trained people to make themselves luckier. He asked them to keep a
journal and write down only the good things that happened each day. After several days, people
who used to feel unlucky began to see themselves as lucky, and those who originally felt lucky
thought they were even luckier.

Why did the author write this passage?

1) To entertain readers

2) To persuade readers to try positive thinking

3) To advise readers how to be lucky in games of chance

4) To inform readers about the connection between attitude and luck
The word ''them'' in line 15 refers to ---------- .

1) opportunities 2) situations 3) intuitions 4) decisions
According to the passage, Robert Wiseman ------------- .

1) claims negative people can never feel lucky

2) studied the behavior of lucky and unlucky people

3) found that most people are unaware of how lucky they are

4) believes there is no way to change people's attitudes toward luck

According to the passage, all of the following are characteristics of lucky people EXCEPT that
they ------------ .

1) look on the bright side 2) trust their gut feelings

3) try not to miss opportunities 4) do yoga to lose their sense of reality

It can be understood from the passage that the writer is likely to ------------ .
1) consider himself a lucky person

2) believe people can create their own luck

3) doubt that we can have control over factors affecting our luck

4) believe there's always the same amount of good luck and bad luck in the world
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